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Pl es
= 1 91, 572, 892
N+
= 1 60, 219, 665
HRi L (1CT)
m3 11, 000 2,671, 900
I (ICT) W -7 sy FEFEMEL 10, 000m
3L 150, 000m3 AT
= 1 1, 525, 700
i1 TR A7 vhyh PR R 10
, 000m3 24 50, 000m3 A5
= 1 1, 146, 200
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= 1 522, 665
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m2 650 804. 1 522, 665
Fe AL T
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= 1 57, 025, 100
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= 1 27, 062, 895
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= 1 27, 062, 895
oA - et AR (B 1)
m2 11, 600 31.74 368, 184
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m2 7, 600 147. 4 1, 120, 240
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m2 19, 200 84.16 1, 615, 872
PR T 1S g

m3 306 2, 866 876, 996
PR T 1S i

m3 1,175 2, 866 3, 367, 550
PR T 1S RAR

m3 370 3,115 1, 152, 550
PR T 1S 7

m3 175 1, 620 283, 500
PR T 1S PR

m3 44 1,744 76,736
W5y e

t 238 12, 410 2,953, 580
W5y i

t 917 2, 757 2,528, 169
W5y ARAR

t 289 22,982 6, 641, 798
W5y r

t 136 20, 224 2, 750, 464
W5y PR

t 34 45, 964 1,562, 776
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B TR
= 1 91, 572, 892
I L
= 1 7, 440, 554
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= 1 1, 342, 866
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= 1 27, 355
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= 1 549, 738
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= 1 765, 773
HIBGERE (FEH L)
= 1 6, 097, 688
Wi
= 1 99, 013, 446
B
= 1 23, 226, 006
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= 1 18, 210, 548
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= 1 140, 450, 000
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= 1 14, 045, 000
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